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MODIFIED SQUARE WAVE
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Step Amplitude (arbitrary choise):

Number of steps:

Signal amplitude:

Step length:

Signal amplitude:

Step length (arbitrary):
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Step amplitude:
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+Vstcc[t - T2stp17‘(4‘m2step57 +2+ Shlﬁ)’TZStpli’Vstci’mzstepsj
+Vslci~recll[t - T25(p17A(4‘mzstepsi +2+ sh1ft),0~T25lpL,(2~m2slep57 + 1)~Tzstp1j

T = 2 g (3 M2gqeps + 4) + shift Togy)

T -(1 — shift) («mz + shift + 3)-T
o 2stpl_| steps_ 2stpl_
VHDoor(t’TZstplf’Vstcf’mzstepsi’Shlft) = Vstcﬁ‘rec'[l|:t + 1 ’T25tp17

2 2

Ty = (6-m2

+ shift + 3) Toge)

steps_

0 0.0001 0.0002
Signal amplitude: ~ e =12x 10* =12x 10"
gnal amp. (GH VStC37 = m Vpp— 2x -mV VStC37_ 2x .
Step length (Arbitrary): Taes, | = 4P Tste3y = 4
D ry): ste3gep) = 1000 SCstpl = F'MS
. 3
Number of steps: mstedgrons 1= 2
Tste3
) . . stpl_
Time constant: Tste3giep = B
Period: Tste3gye, = 2:mste3gens Tste3g) Tste3go, = 64-pis
. . - 1 . _
Frequence: fste3giep = T fste3gyep, = 0.016-MHz

Thshe= (6M2gteps + 13) Togep
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NO
d . .
v (t T m2 Ve »Shift,NOgg) = Ve - f rectl||t — (2:k — 1)- (é'mzml’t * shift + 3)'T2stpl, B (shift + 1) Ty
HD\"> *2stpl_>"“steps_> “stc_* >WWed) = Vste_ P 2
k=1 . (6-m2gieps + shift +3) Tog)
2
(shift + 1)-Tog |
H(1 =12 ————P — Ty shift
. VHD(t > TZStpl_’ mzsteps_ 4 Vstc_’ shift, Nogd)
Vip(t Tastpl+M2steps - Vste »Shift.NOgg) = v
Nogd
VHH(t’TT’T2stpli’Vstc7’mzstepsf’Shift’NOgd) = Z VH(l - k‘TT’TZStpli’Vsthmzstepsf’Shiﬁ)
k=0
. VHH(t ST, TZstpli’ Vstes mzsteps »shift, Nogd)
VH(t’TT’TZStpli’Vstc’mzstepysmﬁ’ Nogd) = v
—6
mzstepg =8 T2stp17 =4x10 s mStC3step57 =8
X . . 5 Tyg)
Fsl= (6'm2steps_ + shift + 3)‘TZStpl_ tiscbw = 0" Tsl> O T + 2000 5-Thgl
Staircase based test signal...
””””” 1”Shi TZsTpt’””’"”””””” ””””””””””5’@' TZsfp‘l:’}quﬁ::
T | - |
30 o Rl 2 2N
| |
i i
20 i i
| |
| |
L. £ . & &£ u_ . € i S e Wy
10| stc
0

0 0188 0375 0.563 0.75 0938 1.125 1313 1.5 1.688 1.875 2.063 225 2438 2.625 2813 3

t.tscbw/T.Hsl

The End
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